
1) 11 x 10

Answer: ____________

2) Round 14.528884 to 3 decimal places.

Answer: ____________

3) What would you multiply by to 
increase an amount by 24%?

Answer: ____________

4) (-160) ÷ 8

Answer: ____________

5)
125

10 /15

Answer: ____________

6) 5/10 - 5/12

Answer: ____________

7)
20  Find Volume of 
               16       Cylinder 

Answer: ____________

8) 105 ÷ 15

Answer: ____________

9) 11/
11 ÷ 4/11

Answer: ____________

10) Increase 24 by 1/8

Answer: ____________

11) (711)7

Answer: ____________

12) Share 12 in the ratio 10:2

Answer: ____________

13) Find the median of the following set of data:

18, 40, 20, 19, 34, 3

Answer: ____________

14) Convert the following improper 
fraction 46/9 + 37/8 to a mixed 
number

Answer: ____________

15) $483.00 earning 6% compound 
interest for 5 years.

Answer: ____________
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16) 8/
1 ÷ 8/3

Answer: ____________

17) Find perimeter of 
rectangle having 
sides a = 64 ft 
and b = 34 ft

Answer: ____________

18) Convert the following mixed number 
410/9 to an improper fraction.

Answer: ____________

19) 93 - 55

Answer: ____________

20) What would you multiply by to 
decrease an amount by 96%?

Answer: ____________

Total: ___ / 20
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Answers:

1) 110 2) 14.529 3) 1.24 4) -20 5) 25 6) 1/12 7) 16084.95438638

8) 7 9) 23/4 10) 27 11) 777 12) 1 : 11 13) 19.5 14) 813/24

15) $646.36 16) 3 17) 196ft 18) 46/9 19) 38 20) 0.04
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